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Eleven | Goelve | Bhirbeeon Fourbeon | FibGeen
e 1= 11 [12x 1 = 12/ 13« 1 = 13|14 x | = 14{[15x 1 = 15
Mx 2= 22/[12x 2 = 24{13x 2 = 26||14x 2= 28||15x 2 = 30
1 3= 33[(12x 3 = 36| 13x 3 = 39||14dx 3 = 42|15 x 3 = 45
11 x 4 = 44 |12x 4 = 48||13x 4 = 52|{14x 4 = 58/[15x 4 = B0
I1x 5= 55|12x 5 = 60[ 13x 5= 65/ /14x 5= 70[|15x 5= 75
f1x 8= 66[12x 6 = 72| 13x 6= 78 14x 6= B4[[153x 6 = a0
It 7= 77|12 7 = 84|/13x 7 = G1|{14x 7 = 88/|16x 7 =105
1%« B= BB (12x B = 86 13x 8 = 104||1dx B = 112/|15x 8 =120
11 x 8 = 98 |12x 9 =108/ 13x 8 = 117||14x B = 126/|15x © =135
11 x 10=1100(12x 10 = 120{ 13x J0= 130)/14 x 10= 140||15 » 10 = 150|
Saxtiean |Seventeen| Baghtaeen Nimelieen | Buenby
IBx 1= 18i[17x 1 = 17||1Bx 1 = 18|{19x 1 = 19|(20x 1 = 20
IBx 2= 32/|17x 2 = 34[18x 2 = 3B8[|19x 2= 38[|20x 2 = 40
fBx 3= 4B/{17x 3 = 51[|[18x 3 = 54[|19x 3 = 57(|20x 3 = 60
Bx 4 = 64 (17x 4 = 68||1Bx 4= T2/(19x 4= 7TB||20x 4 = 80
6x 5= B0 (17x 5 = B85 18x 5= 80/ 19x 5= 865|20x 5 =100
Bx 6 = 98 (17x 6 = 102|/18x 6 = 108|{19x B8 = {14|(20 x 6 = 120
B T =112[17x 7 =119/ 18x 7 = 126/ 19x 7 = 133/|20 x 7 = 140
1IBx B8 =128 |17 x B = 136/ /18x 8 = 144|{19x B = 152|[20x 8 = 160
{Gx O =144 (17 % 9 = 153[ 18x @ = {62|/19% 8 = 171||20 x 9 = 180
16 x 10 =160 |17 x 10 =170 18« 10= 180|198« 10= 160)|20 x 10= 200




21 22 || 23 | 24 25

¥ 1= 21(22% 1 = 22|23x 1= 23| 1= M |2/x 1= 25
x 2= 42)|22x 2 = 44/|23x 2 = 46| x 2= 48 |26x 2 = 50
¥ 3= B3/|(22x 3 = GB||23x 1= B9 Mx3I = T2 25x 3= T
v 4 = B4 (22x 4 = 88||23v 4= 22| Mwd= 9 (26x 4= 100
x 6 = 105/(22x 5 = 10]|23x & = 146)|M x 5 = 120 |26 x & = 125
x B = 126 (22 x 6 = 132||23x 6 = 138 | M x 6 = 144 (25 x 6 = 150
¥ 7= M7/ (22x 7 = 184[|20x T = 181 M x 7 = 6B |25 x 7 = 175
¥ B = 168 |22 % 8 = 176(|23 % B = 184 M x B = 182 (25 % § = 200
¢« 8 = 185 |22 x 9 = 198)|23« 9 = 207 |24 x5 = 216/ (25 % 9 = 225
¥ 10 = 210/ (22 x 10 = 220{|23 x 10 = 230/ 24 » 10 = 240 |25 x 10 = 250
. T

26 21 25 245 30

x 1= 26(27x 1 = 27||2ax 1= 2|2 x 1= 2930x 1= 30
¥ 2= B2/|(27x 2 = 54{|2Bv 2= 56| 2®w 2= BB |30x 2 = &0
¥ 3= TB/(2Fx 3 = @Bi||28x 2 = 84{|29x 3 = 67 30x 3 = 30
¥ 4 = 104/ (27 x 4 = WBE||28x 4 = M2 Wr 4= 116 |30 x 4 = 120
« 5 = 130 |27 x 5 = 135/|28Bx 5 = 140/ 28 x 5 = 145 (30 x 5 = 150
¢« B = 186 (27T x 6 = 162||2@« 6 = 168 |2 x5 = 174 (30 x 6 = 180
x 7 = 182/ (2T x 7 = 188)|28x T = (86|28« 7 = 203 30 x 7 = 210
x B = 208 (27 x B = 216||28x 8 = 224|/209x¢ B = 232 |30 x B = 240
¥ 9 = 234 |27x 9 = 243||28x 9§ = 252|288 9 = 261 |30 x § = 270
v W= 260 |27 x 10 = 270[|28 x 10 = 280/ 29 » 10 = 290 |30 x 10 = 300
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LeUS revise the mathematical con epts that w

1. Write the numerals.

2

ve have

| S em— S

learnt in previous classes.

s F
b, 659

95

» a o

3. Write the number which comes just after.

. 2 | b. | 320

Wﬂte the number which comes just before.

Lﬁﬁ b.

e

s — ————
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b. 519
d. 990
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12. Arrange the following numbers in descendinp order.

* NS ]

1

ﬂ Form all possible 3-digit numbers usmg the given digits (Use each digit only on%
» GO - [ 3
- - Jaed

- = |

s

-

¥
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“17. Find the sum.

DA -OEE - OEn - D6
2 8 7 3.8 A 47 8 o

B - 1 39 3+ 248 "+ 2 ¢

\
I u
I

e- EEE pEa - BEn
6 -5 7

53 9 4 3 4

+ 2 3 5 + 2 6 3 R S e = e 3 1
ﬁ‘bh,

18. Find the difference.

-OEE - OEG
e B 4
ey 218 — e 7

e £ ;  ENREES
6 S &4 >
Bt 8 9 - 4 SRR e o G
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-OiE - pEE - IIB h

i 1 3 2 3 1 5
x 7 X 3 X 5

bl ] |

20. Divide the following.

= 8)56( | b 7)a9( C. 5)45( d. ;)35(

e. 2)884( | f 3)936( g 7)889 h, 3)147( {5
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Fill in the blanks.
a. April has days.

b.  Monday comes after

¢.  There are days in a leap year.

d. is the second last month of the year.

e. There are days in a week.

f. is the shortest month of the year.

Look at the pictograph and answer the following questions.

» " - :
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8478
9804

70 6671

4. Observe the pattern and write the next four numbers in descending order.
3. 1044 1043 1042 1041
b. 8844 8744 8644 8544
¢ 6401 5400 6399 6398
d. 8256 8255 8254 8253

e,

ﬁi ‘
i 3
SRR
IR S [
L} ~ -
[

s n
S,
da” T
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Place Value : Place value of 3 digit in a number depends upon its place in the number
Let us calculate the place value of each digit in 3485 :

3485 )

) ) “"l; shows 5 ones - % Ve, 5l S0

—» Shows8tens -, 8x 10=
shows4hundreds =+ 4 x 100 =
shows 3thousands ™ 3 x 1000 =

3
1 Place valueof Oisalways0

irrespective of its place. x5
In a number madewm.ﬂ’

2.

Face Value : Face value of each digit in a number iy 'ff_
is equal to the digit itseif. itsri RS
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nded form in v,
jorm in fig -

Scanned with CamScanner




